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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) ofianefl FEwum 03 Wy U W Awis ffarda: ford |

Candidate must\wfite first his / her Roll No. on the question paper
compulsorily:

2) Wt W T A AR |
All the suestions are compulsory.
3)  uRE ¥ &H IW T sm-gie 4 @ g
Write the answer to each question in the given answer-book only.

4) Fom vyt A it @oe §, 37 At & IW o |y @ o)

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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5) A& D a ameh wor d fed v ) qR / s/ R 2 RS s
¥ vy & @ 78 7|

If there is any error / difference / contradiction in Hindi & English versions

of the question paper, the question of Hindi version should be treated valid.

6) T = I foren | g@ uw = i sy frd)

Write down the serial number of the question before attempting it.

T) WA w17 | 23 7% | s free §)

There are internal choices in Question Nos. 17 to 23.

8)  u Im-yfeerem & gut F 3R ferfee) aR i 1 @l F= @, A Iw-gfe
fem g8l W i ok 32 Tt el A FeEw = W T W forw )

Write on both sides of the pages of your answer-book..If ‘any rough work

is to be done, do it on last pages of the answer-book-and cross with slant
lines and write ‘Rough Work’ on them.

9) WA wHiE 21 N e WE IR W AR

Draw the graph of Question No. 21 on graph paper.
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U - A

SECTION - A
(wgfre o segaaes W)

(Objective and Very Short Answer Type Questions)

1) ﬁna@ﬁzuﬁ%mwaﬁf&mmwwgﬁmﬁ%ﬁm

Answer the following questions and write them in the answer book by selecting the correct option.

) =AY P(I)=(3-x)(x—4) Hum g - (1]
H) 2 . T) 4

|) 0 3 3

The degree of the polynomial P(x)=(3-x)(x~4) is-

A) 2 B) 4
C) O D) 3
S
i) af? 6 e arch T & TE AU AW U H9: 2 a9 10 2, a9 w8 =
AP B - Q\Q%” [
\
H) T2 @ |) 36
|) 135 7 24

If first and last term of an arithmetic progression having 6 terms are 2 and 10 respectively,
then sum of arithmetic progression is -

A) 72 B) 36

C) 135 D) 24
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i) fg PS5 -4)wx-omaghi- i
# 5 a 0
q) 4 ?) 16

The distance of the point P (5, - 4) from x-axis is -

A) 5 B) 0
C 4 D) 16
iv) = @ swfea s - [
H) 2 q)  2.232425....
|) 2173 ) 223

Which of the following is an irrational number?

A) 2 - B) 2232425...

Q) 23 - D) 223
V) k% Trm am % fore B Yo weftemoil % qm w wd gm w2 (1]

3x+y-l,(21c§~§;]§g-|-y=2k+]
&
AN 2 &Q 1) 1
$
|]q) 3 2) 4

For which value of k, the following pair of linear equations has no solution?

x+y=1(2k-1)x+y=2k+1

A) 2 B) 1
C) 3 D) 4
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vi) Tt Rama wfiemot ax? +bx+c=0 * gF arafas 78 §, ol - (1]
A b2-dac>0 ) p’-dac=0

) b -dac<0 Q) b'-4ac20
Roots of any quadratic equation a x* +b x + ¢ = O are not real, if
A)  b*-4ac>0 B) b’-4ac=0

C)  b%2—4dac<0 D) b%-4ac>0

vii) fagaft A(x+4,y+5) aun B(6-x,3~ y) ® frem amt Yamawe % v frg & Piwis § -
' (1]

) () ) ((54)
Q 5 4
") (x+5 y+4) SQ\Q 2) [55)
&6
N3
©
Q >\ .
The coordina%@%f the midpoint of line segment joining the points A(x+4, y+5) and
B(G—x,3-—y) is =
Ay (xy) B) (5,4)
5 4
C) (x+5 y+4) D) (? E]
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. 1
vii) @i} 5““5‘:5 A, @ 2sinAcosA W HA - (1
1
|
| 2 N

) 1
If sin A:E , then value of 2sin AcosA is -

1 | J§
A) 4 B) >
1
c 1. | D) ﬁ
. 2 tan 30° -
lx) 1—'taﬂ.230° - [l]
N
1 gﬁ\
= &
N \QQ§ T 1
QQ
$
W 0 A B
The valueof_zm_n_f_g:is_
}-1tan- 30°
1
ANl B) 1
C)y 0 D) JE
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(1]

x) U U @ U TR G A g1 AT WO W Wi w0 ) i § -

)

e | 12

|\JI|-

3H)

| 0 7 1

A die is thrown once. The probability of getting a prime number is -

IV B :
C) o0 D) |
xi) ®F2,0,7,3,4,8 | T amEwD - (1]

H) 3 T 4

|) 7 ) 2

Median of data 2,0, 7, 3,4, 8, 1 is -

A) 3 | B) 4

C)y 7 D). 2

(1]

xii) AR FefeRan siwgl R awawast @ 2602, @ x w1 aw 2 -

Iari I 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
] AR ] 5 Dg\\;) 20 [ 15 7 5
A 7 $Q\Q‘G a) 8

N
") 15 37 20

If the sum of frequency of following data is 60, then the value of x is -

[CJass [ o-ml 10-20 | 20-30 | 30-40 | 40-50 | 50-60
{ Frequency ‘ 5 , X 20 | 15 7 5
A) 7 B) 8
c) 15 D) 20
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2 Frfori sl A fes wrt @ 9 W g v § R

Fill in the blanks in the following questions and wnte them in the answerbook.

) Pfdfm waem wd 3, fe ol F ot @ Rl

s[5

In the following Arithmetic Progression, write the missing terms in the boxes

1

9—
5. 2
q_D_4
i) e e gm ax+hy+a =0 3 ax+by+c, =0 HTR PTG T L
PRy [
. . . - =( f.‘-;r-l-:f-z-:£L then
In pair of linear equations @x +by+¢; =0 and ayx +byy +¢, =01 b by o
lines represented are
i) 7.5 S ond rererg W 2:] § Rwfm w3 wag smH enang adt geftt (1)
A 7.5 cm long line segment is divided in the ratio 2:1, then the length of large portion will be
CIn.
iv) fRal (3, - 2) 7 (4, )R g T ey H T ] (1]

The length of a lite segment joining points (3, —2) and (4, 5) is

V) cosd8o-sin42° WMEAL______ (1]
The value of cos48°-sin42° jg

viy Pefimdegimages ¥ (1]
2,6,4,50,2,1,3,2,3
Mode of following data is .
2,6,4,50,2,1,3,2,3
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3) R FgeoeTE wE)
Very short answer type questions.
D wwmadt 72 i 120 = Fgww wagERd (LCM) 7 € [1]
Find the least common multiple (LCM) of numbers 72 and 120.
ii) wmwmﬁ&mmmwmmmm:—saﬂum (1]
Find a quadratic polynomial, the sum and product of whose zeroes are - 3 and 2 respectively.
jH) WER P(x)=x?-2x-8 & ymw wm SRy [1]
Find the zeroes of the polynomial P(x)= x%-2x-8.
;/\r) 5 AR 3l 7 97 w1 e e T 50 R, wrarfs 7 AR ok 5 29 W1 $0 474 T 46 }1 va wHEn
= W wheit & g grn sehia $ifw [1]
5 pencils and 7 pens together cost ¥ 50, whereas 7 percils and 5 pens together cost T 46.
Express this problem by the pair of linear equations.
¥ (x——Z)——x=3x(x—2) w Ram witeor & s § faf) (1]
Write (x = 2)—x =3x{x>2) inthe form of quadratic equation.
vi) 5 &t erard w1 O oy difa 3R anfiafe Sk [1]
Draw a line segment of length 5 cm and bisect it.
/\;ﬁ) frara wftemo 3x% = 8x-16 =0 & qE N wFHR 7w iy (1
Find the nature of roots of quadratic equation 3x% —8x—16=0.
),‘-J/D aR g Q (0, 1), g3l P (5, - 4) 3R R (x, 6) w1 weafirg }, o x 1 ww o ARrey (1)
If point Q (0, 1) is midpoint of the points P (5, —4) and R (x, 6), then find the value of x.
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ix)  2tan? 45°+cos” 30°—sin? 60° T WH 7 o

. 2 - .2
Find the value of 2tan” 45°+ cos” 30° -sin~ 60° .

x) UEdet # 3 e ot 5 weht R § W 9N 7 A ww g agenm Pl T 2 Ted w
miter § R g 112 @ anfte (1]

A bag contains 3 red and 5 black balls. A ball is drawn at random from this bag. What is the
probability that the drawn ball will be red?

x) 3R tanA=cotB, @@ A + B ® 7H 7w ffer (1]
If tan A = cot B, then find the value of A + B.

xii) WA 6, 11,21, 23, 14, 5 T men 7 Hifw| (1]
Find the mean of distnibution 6, 11, 21, 23, 14, 5.

U - %
_SECTIQN - B
4) wTErR A : 10,7, 4, .....,—32%@%#@1%@&{[{! [2]
Find the number of terms of AP : 10, 7, 4, ..., = 32.

5) mzmmwmm@mﬁm

(2]
Find the sum of first 2@5:1:\&: integers.
$
6) foum wiiwwr x? -8x-180 =0 ¥ 7= 7w Rfemy (2]

Find the roots of quadratic equation x2 _8x_180=0.

7w e wdeo gm @ g i 2]
x=3y=7 ; x+4y=14
Solve the following pair of linear equations :

x=3y=7; x+4y=14

S—09-Mathematics 6005

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

8)

9

10)

11)

; 3 .
12) =R SmA:‘g R, 7@ tan A+ cos A T A 7@ il

13)

14)
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< wEAIa 616 3R 32 1 wgEW @uEd® (HCF) 7 Sifn)

Find the highest common factor (HCF) of two numbers 616 and 32.

v fum agez wm Sifvg, fred ymw 3 v -3 # 2]

Find a quadratic polynomial, whose zeroes are J3 and - J3.

Hfm) (2}
- ints (5. — 1,-4).

Find the ratio, in which y-axis divides the line segment joining the points (5, - 6) and (-

fargait (5, - 6) AR (- 1, _ 4) 8 e e Yoravs  y-A| B argam F R @ 3,

7.6 St T v Yamevy SR ok R 1:2 § AR Sl (2]

Draw a line segment of length 7.6 cm and divide it into ratio 1:2.

(2]

If sinA =§, then find the value of tan A+ cosA".

farg ffrg : (sec A+ tan A&@Sy\smﬁ; =COSA . [2]

Prove that : (secA+@ 1-sinA)=cosA.

i STeET g2 & ud 7 HiR [2]

x | 0 4 8 [12 |16 | 20
f 1 3 5|4 |2 1
Find the mean of the following frequency distribution :
x |0 4 8 |12 |16 | 20

Fflr 35421
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15) Rt swarm vz o "t ¥y ¥ ey

16)

12

et - (2]

=i e 30-55 | 55-60 | 60-65 | 65-70 [ 70-75 | 75.80
Change the following fre;uency disstzibuti ” ‘ - " "

_ 0N to “more than’ type distribution :

Class interval 30-55 | 55-60 | 60-65 [ 65.70 ] 70.75 75-80

Frequency 2 8 12 | 24 | 38 16
2 Rremdh A ai\tniﬁqumﬂadnaimwmm; A & da et © i 0.62 I B ¥ Aw
SR s 37 (2]
Two players, A and B play a tennis match. Itis known that the probability of A winning the match

15 0.62. What is the probability of B winnin

g the match?
oy - |
1
7 ?f&mﬁaﬁmﬂﬂ%m 16 Wi %1 dm 728 § 7on yum vz 8 }, aw 20 W 02 WA Wl (3]
: € sum of first 16 terms of an Arithmetic Progression is 728 and first term is 8, then find the 20®
erm.
AU /OR
w&ﬁ:ﬁmﬁﬁ%anéwﬁmu-ﬁi,mmloﬁqamﬁﬁrql [3]
If the sum of first n terms ofan Arithmetic Progression is 4n — n?, then find its 10* term.
18) Sﬁlﬁgmmﬁqa@wmg&gm&smﬁgaﬁmﬁ&qﬁmﬁgm&&&n&ﬁgwﬁﬁm
2 e
st 2 |
sl & = 3]
Construct a triangle similar to an equilateral triangle of side 5 cm, with its sides equal to z of the
corresponding sides of the given triangle.
3=/ OR
5ﬁm%wﬁmmawﬁhﬁﬁﬁm?ﬂmﬁo°%ﬁmmgﬁﬁl 3]
Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each other at an angle of
60°. '
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19)  fog dfowy .

20)

S-09-Mathematics

1an 49 1un 24° tun 60" tan 41° tan 66" - J“i

Prove that
W 49° tan 24” 1un 60” tan41% tan 66 - J’i

#A/OR

1+8inA

ﬁq:uﬂ'lﬁxq: -I_—L;IIITI = SCCA+ tan A

————

l+8inA
l-8inA

=8cCA+tan A

Prove that :

ﬁﬂﬁlﬁuwﬁwm“m&nmhﬁmmmﬂﬁq:

o arm™ 0-10 | 10-20 | 20-30 | 30-40 | 40-50

araETm 2 5 8 4 1

Find the mean of the following grouped data using the assumed mean method

Class interval | 0-10 l@h 20-30 |.30-40 | 40-50

Frequency 2‘ SJ 5 8 4 ]
§&Qo A /OR

P AT w2 w0 agers B

Tt s 10-20 | 20-30 | 30-40 | 40-50 | 50-60

22 10

HqoAwq 12 20 25

Find the Mode of following frequency distribution :
Classinterval | 10-20 [20-30 | 30-40 | 40-50 | 50-60

Frequency 12 20 25 22 10

[3)

(3]

31

[3]
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g - 7
SECTION - D

2D e W e g 2 sl R g v B - ]
X+y=8 ; y=2x-7
Solve the following pair of linear equations by graphical method :

xX+y=8 ; y=2x-7

JFUA/OR
P o wftamo g 9t sneveiia faft g 7 SR - 4]
3x-2y=9 ; x=yp+2

Solve the following pair of linear equations by graphical method :

3x-2y=9 ; x=p+2

22) = Brgw ABC wAgn, Rredl yomd BC = 6 4, AB = 5 @ aik £ ABC = 60° A o = B

A B, Rl o ALBC 970 ool 1 2 (4]

Draw a triangle ABCWith sides BC = 6 cm, AB = 5 cm and £ ABC = 60° .Then construct a

0 [ 3
tnangle, whose sides are 2 of the corresponding sides of the triangle ABC.

3FI/OR

sﬁﬁquaqaﬁf&rth%%ﬁésﬁtﬁagﬁmw
Hfim 3 Iht erardar mitm)

Draw a circle of diameter 8 cm. From a point 8 cm away from its centre, construct a pair of
tangents to the circle and measure their lengths.

g R 9% W ol Y gm B
[4]
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23) e Re R 97 W aaw il (4]

ot st | 14 | 47 | 7-10[10-13]13-16 l16.19

A | 6 | 30 40 16| 4 | 4

Find the median of the following distribution :

Class interval 14| 4-7 | 7-10| 10-13|13-16{16-19

Frequency 6 30| 40| 16 4 4
3YET/OR
ﬁﬂﬁ?ﬁﬁﬁﬁﬂmﬁﬁmﬁﬂtﬂzﬁﬁmmzmm Hiwgl N Pt
ot & v #F Pl frn s - (4]

g (mm) 1-9 | 11-19 |21-29 (31-39 | 4149 |51-59

ot R aem | 6 10 12 22 17 8

wﬁtﬁﬁﬁﬁﬁmaﬁmﬂﬁml

The lengths of 75 leaves of a plant are measuréd forrect to the nearest millimetres and the data
obtained are represented in the fo@of following table :
Q g

PN
Length (mm) ,§1‘59 114191 21-29| 31-39[ 41-49] 51-59

AN
N
Numbersofleagds | 6| 10 | 12 | 22 | 17 | 3

Find the mode of the leaves length.

B
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